> A
A 2 0l & A &2 & Al A
20189 = =0l & LB H 2F M
AN 2E MM
M ST AEH Jlgtxd
&??: 8SE23EA 2N (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E ot M 27,579,340 23,350,675 4,228,665
= 3,000,000
Xl 2,150,000
J| 1,591,000
< 2,508,575
Al 16,529,765
T 1,800,000
dS2stEAMSEd J|gtxrd 19,880,200 14,474,637 5,405,563
= 3,000,000
Xl 2,150,000
J| 1,591,000
< 2,074,025
Al 9,265,175
T 1,800,000
HNEZSTA TEXA 4,446,000 2,897,000 1,549,000
X 2,150,000
Al 2,296,000
d= MS23T Al ZEXE 46,000 47,000 21,000
201 et 40,000 40,000 0
01 At 2teltl 40,000 40,000 0
Odx= MNEEIAIZAN B8 40,000
203 R =&l 6,000 7,000 A 1,000
03 A Z=XH R =AY 6,000 7,000 A1,000
X HSE2HEA 88 =& 6,000
AMBERSFTANZTH(MERS B2 - AHS £ 84 2,900,000 1,850,000 1,050,000
Xl 1,450,000
Al 1,450,000
307 glz2+ol & 2,900,000 1,850,000 1,050,000
Xl 1,450,000
Al 1,450,000
02 QB AANFEE 2,900,000 1,850,000 1,050,000
Ods=2s EZ - Hs ¥ =4 2,900,000
X 1,450,000
Al 1,450,000
AMTEESFTAZTH(2SE Z&2XH) 1,000,000 1,000,000 0
X 500,000
Al 500,000
401 AIEBI L 20HEI 1,000,000 1,000,000 0
Xl 500,000
Al 500,000
01 A& tl 1,000,000 1,000,000 0
OHEZ3EAN 238 24X 4 1,000,000
Xl 500,000
Al 500,000
g8 &5 018 dA 500,000 0 500,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 200,000
Al 300,000
401 Al HIZ 201 I 500,000 0 500,000
X 200,000
Al 300,000
01 A& HI 500,000 0 500,000
Odd &= J18 dA2 500,000
Xl 200,000
Al 300,000
Nezstsd & X 5,581,900 3,662,113 1,919,787
J| 1,591,000
< 312,025
Al 3,678,875
2t e 2 Het=3 2 12,000 9,000 3,000
307 21201 A 12,000 9,000 3,000
02 YAFHAANGFEE 12,000 9,000 3,000
O2UMe FHE=3s 2 12,000
Mt 29 2,400,000 1,414,755 985,245
306 243 2,400,000 1,414,755 985,245
01 &= 2,400,000 1,414,755 985,245
O=3Me 24 2,400,000
202 - U2 ALY 87,000 87,000 0
< 34,425
Al 52,575
307 gl2tol & 87,000 87,000 0
< 34,425
Al 52,575
02 It M AHE X 87,000 87,000 0
ox20lsd 23tAtY 72,000
< 28,800
Al 43,200
o2& 23tALY 15,000
= 5,625
Al 9,375
d==3d N&E 123,000 121,000 2,000
307 21201 A 123,000 121,000 2,000
02 It S AIHE L 45,000 45,000 0
OE=Z3td At XI& 45,000
03 SIZtHNHE2IHIEE 78,000 76,000 2,000
Od==2std 24 K& 78,000
H=HMS30 =30 48,900 51,300 A 2,400
307 21201 A 48,900 51,300 A 2,400
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M ST AEH Jlgtxd
©el: Xe2sss o AW CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
< 80,000
Al 50,000
307 glz2tol & 130,000 130,000 0
< 80,000
Al 50,000
02 It M AHE X 130,000 130,000 0
OE==2 A 130,000
< 80,000
Al 50,000
Olsg dANE 29 25,000 35,000 A 10,000
201 Let2d] 25,000 25,000 0
03 & Ar2 Gl 25,000 25,000 0
O0ls8 HAE &X 29 25,000
2030 M==23tHl 8 =& 150,000 0 150,000
207 & 51 OH &l 150,000 0 150,000
01 284 150,000 0 150,000
©2030 d=Z 3l =& 150,000
FSAE2Y 2l 9,852,300 7,448,904 2,403,396
= 3,000,000
< 1,762,000
Al 3,290,300
H 1,800,000
2oty Yzt E 478,000 0 478,000
307 gl2tol & 478,000 0 478,000
05 RIZIRI & 3 478,000 0 478,000
OHFA 232y 2 478,000
=& AEMH 10,000 10,000 0
405 XHoHE S HI 10,000 10,000 0
01 AL EZFH S 10,000 10,000 0
o=23d 25+ 2,000,000% *504 & 10,000
TeME 232 Ald2e 2 29I 76,000 76,000 0
201 Let2d] 71,000 71,000 0
02 2324l 71,000 71,000 0
oOXN2MEEstE2t Ald2e & 2 71,000
405 XHoHF S HI 5,000 5,000 0
01 AL ESFH S 5,000 5,000 0
oxXsMazstI2t Ald2el & 24 5,000
ES3AIE 137,000 142,000 A5,000
203 R =&t 12,000 12,000 0
03 AIMF=AH R =AY 12,000 12,000 0
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5 - 4
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OZStAEME g2=2 12,000
401 Al HIZ 201 8] 125,000 110,000 15,000
01 A& HI 125,000 110,000 15,000
O=23AIE e 110,000
OIS T JIsE2 (004 15,000
A - HASAE Z3HTHAAS 800,000 3,090,904 A 2,290,904
401 Al HIZ 201 Y] 800,000 3,000,000 A 2,200,000
01 A& HI 800,000 3,000,000 A 2,200,000
OHAHAIE 23T A 800,000
dF IS Z2UHGAIIE2 HE 2,174,000 600,000 1,574,000
= 1,000,000
< 587,000
Al 587,000
402 RIZ2ER20l ™ 2,174,000 600,000 1,574,000
= 1,000,000
< 587,000
Al 587,000
02 RIZE X2 AL EZ (01X S) 2,174,000 600,000 1,574,000
OF=F J|IsSW 2UGAIIE2 HE 2,174,000
= 1,000,000
S 587,000
Al 587,000
dF= XNENEX MAEse 8 HE 4,350,000 3,500,000 850,000
= 2,000,000
< 1,175,000
Al 1,175,000
402 QI2H X201 M 4,350,000 3,500,000 850,000
= 2,000,000
< 1,175,000
Al 1,175,000
02 QI 2 AL EZ (01X TH ) 4,350,000 3,500,000 850,000
O&=F XNGXNEX MHESS &85 A 4,350,000
= 2,000,000
< 1,175,000
Al 1,175,000
ZHRERME 2SAEX T LAY 1,800,000 0 1,800,000
TH 1,800,000
401 Al HIZ 2018 1,800,000 0 1,800,000
TH 1,800,000
01 A& HI 1,800,000 0 1,800,000
O=EHRERUA SAEXNF ZEAS 1,800,000
T 1,800,000
Hd=ZUSHAN2 29 27,300 0 27,300
201 et 27,300 0 27,300
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A 2EEHI
M 2oz 84
Chel: S AKX (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 20,000 21,375 21,375
02 PIZHEHAHEE 20,000 21,375 N 1,375
OOtSCE A= 2ZAR Z22A 20,000
LE=SHE 28243 12,000 10,000 2,000
307 eIzl & 12,000 10,000 2,000
02 It M AHEE 12,000 10,000 2,000
OLLE=HE 283243 12,000
falael Sl 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
02 ItFAAHE X 25,000 25,000 0
Oo=%clael el 25,000
=2 AZE - JHAH- Ot ZEU S 9,000 7,000 2,000
307 21201 A 9,000 7,000 2,000
04 DIZHH A AL 2 X 9,000 7,000 2,000
OdE=Z A= - DAL - JtF BEUE 9,000
d= 212 0l=0A 40,000 42,750 AN2,750
307 glz2tol & 40,000 42,750 A2,750
04 DIZFSHAIAIRI 2 = 40,000 42,750 A2,750
Od= 21 0=Ud izl 40,000
d= St dod 15,000 27,000 A 12,000
307 glz2tol & 15,000 27,000 A 12,000
04 QIZFHALAIH B = 15,000 27,000 212,000
ON= EtHrg ¥oA 15,000
=003 8,800 9,500 A700
307 21201 A 8,800 9,500 A700
04 QIZFHALAIH B = 8,800 9,500 A 700
od=a1n==U3l 8,800
d=2 FA4AYE XHE AU 4,600 5,000 A 400
307 gl2tol & 4,600 5,000 A 400
04 DIZHHALALSE E X 4,600 5,000 A 400
oO&=E HAY IHMZE BAUWSE 4,600
= 2 M ALEH 12,000 10,000 2,000
307 glz2tol & 12,000 10,000 2,000
04 QIZFHALAIH E = 12,000 10,000 2,000
O&ZF M AEH 12,000
dF & 80,000 80,000 0
307 21201 A 80,000 80,000 0
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SN 2D
HH: 2oz 24
& 2SEAXE CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
MF=AIEH A= EISU 3 1,500 0 1,500
307 2Iz2t0| A 1,500 0 1,500
02 DIZHEAAIRE E X 1,500 0 1,500
O&XZF=AIZH &= I3 1,500
HNES50zs 2 HRFEA 20,000 0 20,000
307 2iz2tol A 20,000 0 20,000
02 QIZFA AAIE E X 20,000 0 20,000
ONF250 =z 2HRIHEA 20,000
M= HAYE A2 200,000 0 200,000
& 100,000
Al 100,000
307 QI2t0| & 200,000 0 200,000
& 100,000
Al 100,000
04 CIZ2tSHAPALS B = 200,000 0 200,000
oO&x= EaA4E A=ZH 200,000
& 100,000
Al 100,000
Ssld=cHd 4 & 99,000 92,750 6,250
HF=0=H 50,000 50,000 0
307 QI2t0| ™ 50,000 50,000 0
04 CIZ2tSHALALS B X 50,000 50,000 0
oO&=0l=AH 50,000
M=o 2SN 40,000 24,750 15,250
307 2Iz2t0| & 40,000 24,750 15,250
03 QIZI X EHAESHHIEX 40,000 24,750 15,250
oNFUE 29 & 40,000
MF00s 2IXHA 9,000 0 9,000
307 2iz2to| & 9,000 0 9,000
03 QIZIHEHESIHIEX 9,000 0 9,000
OdFLMNE 2N 9,000
AStAHAAMA DBt S 5,127,600 4,531,000 596,600
=} 170,000
Al 4,957,600
dFdoiptg =&K& 5,127,600 4,481,000 646,600
& 170,000
Al 4,957,600
M=2MIGstH JH= 2,770,000 2,670,000 100,000
& 170,000
Al 2,600,000
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 2,770,000 2,670,000 100,000
< 170,000
Al 2,600,000
02 PIZHEHAHE L 2,770,000 2,670,000 100,000
Od==HILatH M= 2,770,000
< 170,000
Al 2,600,000
g (ZAaE2) 2YRX XA 423,600 420,000 3,600
307 glz2+ol & 423,600 420,000 3,600
02 QB HAANEEE 80,000 81,200 A 1,200
odgsH(gaE) 2E=1 X 80,000
03 BIZIH MY E2ZHIEX 343,600 338,800 4,800
OZs(gas) 2921 N 343,600
SHFAICIOICIHAEEH X 92,000 92,000 0
307 glz2tol & 92,000 92,000 0
02 IZtE M AHE X 40,000 52,000 A 12,000
OEFAIOICIHEEH K& 40,000
03 QI HE2IHE xR 52,000 40,000 12,000
OF=AQDICIHAEH XA 52,000
FOAIUOIAZ 2Y 12,000 12,000 0
308 XXM SO 12,000 12,000 0
07 AXSM2ARES 12,000 12,000 0
OFgAlUCIAZE 29 12,000
MESIGSH HE NA(ZHEHEHX) 25,000 25,000 0
307 glz2tol & 25,000 25,000 0
02 It MAMHEE 25,000 25,000 0
od==gdstH Mzl XA 25,000
dFZZMEQN 29 140,000 100,000 40,000
307 glz2tol & 140,000 100,000 40,000
02 QB AANGFEX 140,000 100,000 40,000
ONz=ZZHENA 2 140,000
A ME L =AW= AFE 2 S 50,000 90,000 240,000
402 RI2HXt20l 50,000 90,000 240,000
01 212t 2 AL E = (REMTH ) 50,000 90,000 240,000
O=gdgs B tiaAd 50,000
ded Aot EE KRAALAY A= 170,000 170,000 0
402 QI2H X201 M 170,000 170,000 0
01 2I2F 2 A B (KR 170,000 170,000 0
O&= AlUIIHEE S K& 170,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=L SEEIL 29 395,000 395,000 0
201 £B-2d| 5,000 5,000 0
02 =224l 5,000 5,000 0
OHZYSZHEYL 2 5,000
307 eIzl & 390,000 390,000 0
05 RIZt2E = 390,000 390,000 0
OXFZaZEEHIAL 2 390,000
HFES ML 29 455,000 455,000 0
201 Let24d] 5,000 5,000 0
02 23=24gHl 5,000 5,000 0
o=t &Ar 29 5,000
307 gl2tol & 450,000 450,000 0
05 BIZHRIE 3 450,000 450,000 0
Od=datH &L 29 450,000
d=SE0AHE ARMOL 29 95,000 50,000 45,000
306 ¢ 95,000 50,000 45,000
01 &3 95,000 50,000 45,000
Od=SEltAHE AFLUL 23 95,000
d=F= Sgdsy ¥ Ag 500,000 0 500,000
401 AIEHI L 2 CHYI 500,000 0 500,000
01 A& HI 500,000 0 500,000
o= =8 g 2AE 500,000
HE2LAZH (2SE ) 799,640 600,278 199, 362
QHAIH(2sE 2 t) 706,700 502,658 204,042
olA2AY| (23t # Dt 706,700 502,658 204,042
101 @14l 706,700 502,658 204,042
01 2= 706,700 502,658 204,042
OAAZ R 663,720
@52 12,9843 «2H «50 Al 2t 128 15,581
@5 11,0743 x30H «50A| 2t 128 199,332
[ o= 10,003 & 47 «50A| 2t 128 282,085
8= 8,980 16 «50Al 2tx 12 86,208
09 8, 1173 «6Z «50Al 2t 128 29,222
@ Al e 38,656
-6 11,0743 x7Hx20 Al 2t +8& 12,403
7= 10,0033 x12H «20 Al 2+ +8& 19,206
-8 8,980& x4 H+20Al 2t+8& 5,748
-9 8, 1172« 1P »20Al 2t+83 1,299
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